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Which of the following types of resource is solal"
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 Which of the following is known as primary sector?
(A)  Service sector (B)
o (C)  Industrial sector M)  Noneof these
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Tipu Sultan was the ruler of-

(A)  Mysore (B)  Shimla
_ (C) Kashmir (D) None of these
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i _' Who said “India’s development is not possible without the development ¢
 (A)  DrAP.J. Abdul Kalam
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When was the ‘Minimum Wages Act’ passed and what were jts objectives?
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How did printing press stary in Europe?
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Questions No. 6 and 7 are Long Answer Type questions. Answer any one of the
Jollowing, (4x1=4)
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Discuss the causes of Russian Revolution.
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‘Explain the changes that came ip the life of common mass due to globalization,
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- Write two characteristics of Federal Government.
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MWhat is Communalism?
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What is Panchayati Raj?
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Define pressure group.
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Questions No. 14 and 15 are Long Answer Type questions. Answer any one
following.
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.lhdenlian two challenges of Indian democracy.
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e a brief account of ‘Right to Information Act-2005° i your OWn word S,




‘Whatis Per Capita Income?

What is barter system?
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- Questions No. 19 and 20 are Long Answer Type questions. Answer any one of the
l'f[ Jollowing.
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I: ( chuss the main functions of L‘Umt;lchial banks.
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I Discuss the impacts of globalization on Bihar,
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Mention four main factors responsible for wildlife destruction.
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\Name the main iron ore mining centers of Jharkhand.
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Ne'me five main characteristics of Indian agriculture,
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Questinis No. 26 and 27 are Long Answer Type questions. Answer any one of the

followin'g. (xi=t)
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What is B1 o-diversity? Why is it important for humzn beings?
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What is the d ifference between metallic and nonmetallic minerals?
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.%éh measures should be adopted dunng fire-disaster?
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Discuss the factors responsible for drought.
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What is Landslide?




